Decision Tree
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Classification Example

Root Node:
All Data

- ‘ Tree Assessment:
g (Proportion Correctly Classified):
L

<2.87 \‘\- Leaf1: 100%
Leaf2: 74%
Leaf3: 69%
Leaf4: 100%
Overall: 82%
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Leaf 1: Leaf 2: Leaf 3:
MAX MED MED

Rules:

«if X1 < 2.8 and X2 < -10 then class = MAX

< if (X1 < 2.8 and X2 > -10) or (X1 > 2.8 and X3 < 0.003) then class = MED
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+if X1 > 2.8 and X3 = 0,003 then class = MIN




Construction of a Decision Tree

* Expert knowledge

« Statistical analysis

— Training data (same as doing a supervised
classification)

— Tree (S-Plus command) — recursive partitioning
— Pruning to limit the size of terminal nodes

ERDAS Imagine Expert Classifier

 Aruleis aconditional statement, or list of
conditional statements, about the variable’s
data values and/or attributes that determine an
informational component or hypotheses.

» Multiple rules and hypotheses can be linked to
describes a final set of terminal hypotheses.

* A confidence value is associated with a
condition.




Hypothesis

Good Location

Rule

Southern Slope

Gentle Slope

Conditions

Aspect > 135

Aspect <= 225

Slope < 12
Slope > 0
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